Subject: Re: incorrect size of root.hdd
Posted by Paparaciz on Wed, 15 Jan 2014 18:45:18 GMT

View Forum Message <> Reply to Message

Hi,

if the real data usage in CT is 19GB.
than you have to do:

vzctl compact ctid.

setting smaller --diskspace is completly wrong way...
and given all this | would sure make backup before compacting CT

Page 1 of 1 ---- Generated from OpenVZ Forum


https://new-forum.openvz.org/index.php?t=usrinfo&id=3819
https://new-forum.openvz.org/index.php?t=rview&th=12500&goto=51064#msg_51064
https://new-forum.openvz.org/index.php?t=post&reply_to=51064
https://new-forum.openvz.org/index.php

